

Free Addition 0-12  
Flash Cards (Duplex  
Print, No Answers)

$11 + 0 =$

$0 + 0 =$

$1 + 1 =$

$2 + 0 =$

$1 + 3 =$

$0 + 4 =$

$5 + 1 =$

$6 + 0 =$

$1 + 7 =$

$0 + 8 =$

$9 + 1 =$

$10 + 0 =$

Courtesy of  
Memory-Improvement-Tips.com

$0 + 12 =$

$1 + 0 =$

$2 + 1 =$

$0 + 3 =$

$1 + 4 =$

$5 + 0 =$

$6 + 1 =$

$7 + 0 =$

$1 + 8 =$

$0 + 9 =$

$1 + 10 =$

$2 + 12 =$

$12 + 1 =$

$4 + 3 =$

$3 + 2 =$

$3 + 6 =$

$2 + 5 =$

$8 + 3 =$

$7 + 2 =$

$3 + 10 =$

$2 + 9 =$

$3 + 12 =$

$11 + 2 =$

$11 + 1 =$

$3 + 3 =$

$2 + 2 =$

$3 + 5 =$

$2 + 4 =$

$7 + 3 =$

$6 + 2 =$

$3 + 9 =$

$2 + 8 =$

$3 + 11 =$

$10 + 2 =$

$4 + 4 =$

$9 + 5 =$

$4 + 6 =$

$11 + 5 =$

$8 + 4 =$

$6 + 6 =$

$4 + 10 =$

$6 + 8 =$

$12 + 4 =$

$10 + 6 =$

$6 + 5 =$

$12 + 6 =$

$5 + 8 =$

$5 + 4 =$

$10 + 5 =$

$4 + 7 =$

$5 + 12 =$

$9 + 4 =$

$7 + 6 =$

$4 + 11 =$

$6 + 9 =$

$5 + 5 =$

$11 + 6 =$

$5 + 7 =$

$$7 + 7 =$$

$$9 + 11 =$$

$$7 + 9 =$$

$$10 + 10 =$$

$$11 + 7 =$$

$$10 + 12 =$$

$$8 + 8 =$$

$$12 + 11 =$$

$$8 + 10 =$$

Numbers Added  
are Addends

$$12 + 8 =$$

Commutative  
 $3 + 5 = 5 + 3$

$10 + 9 =$

$8 + 7 =$

$9 + 12 =$

$7 + 10 =$

$11 + 10 =$

$12 + 7 =$

$11 + 11 =$

$9 + 8 =$

$12 + 12 =$

$8 + 11 =$

Result of Addition  
is the Sum

$9 + 9 =$